[ Fake rate vs vertpos |

0.8

[ Dupli

cates Rate vs vertpos |

— 0.0

[ Pileup rate vs vertpos |

0.8

2 o F 2 . . .
g 07 &-00% 8 0.7 RPN S RO N S
S 6 $.008F ° 06; :
4 . ) r N5 EEEEEEEEEEEEEEEEN § T SRR O S TR
8 ®.007F 3 F
05 % 006 0 X=] SPERPRCRPRERP RF R 2% § PR 3 3% (ERPRURPS
: 9.006F : :*
5 E E
0.4 O e (017 ) SRRRRRARFRRES § £ & i AR & i i s 5 ERRR R
0.3 0-004;_ '''''''''''''''''''''''''''''''' 0‘3:_ .........
: 0.003F -+ vswhemremen s :
0.2F 3 0.2k 1T+ - B bR E
0.002:— E
01 0.001F i R SRR L 1) I B
o O o @ o ST ETE ST T T T T
g g g hl
@ x r © T T
0'5:_ """""""""""""""""""""""""" o8F -V HHE - THE S
: . : 0.6F LR
10 0? 1072 1071 1 10 0? 1072 0
track ref. pointr(crr11) track ref. pointr(cml) track ref pointr(cml)
R — EgV:mEE P"bge:té InnOIgEeIESlzs v2_prelimWP_epoch4
Fake rate vs —m Foretranoidrles125 v2 prelimWP _epoch2 wSQCD
N e we T ~ 0.0% N = PP
g '} : : E ¢ 3 :
@ : : @'009:_ ''''''''''''''''''''''''''''''''' o 3
© : : A A AU A © I
SRLOK:] SEERRE I B REP S ETRPREIRPRPREIN SRS e D.008E e o 0.8 b
= : i E = - :
8 : : %.007_— '''''''''''''''''''''''''''''''''' o L l:
: g i 2 E a !
0.6f1 == f -y fieee U o S A (0] SERRRE HEE | B 0 SRR e 1L CRERR SEPRPS
. . S F - .
: 3 0.005f-- -+ irrrrrrtiesem e e 3 '|‘II
0.4 B PR P RRPPRE || REEE 2 0.0042— ------------------------------------------------ o371 E I | S 4 DR
L 5 0.003[+ -+t eeseesessenie i e
0.2 B 0.002F 0.2
L § 0.001 t
I o E T H o Qb e
=] S LU | 5% [ N 1 S 5 T : 2 1ok
& 5 ; g : 8 105
e ot f oo - obte- o 0.5 ---=-+ R A ‘g
: + r H : 0.95 N
085520 -10 B0 =20 —10 0 10 20 0235 10 20

0

10 20 30

track ref. point z (cm)

[ Fake rate vs.sim PV z

~ 0.5
>
D-.O.45
IS
o 0.4

I
O w
w U1

fakerate vs

0.25

o
N

0.15F -+ F- |- 3

0.1
0.05

.......................................

Ratio

0T
Sim. PV z (cm)

30
track ref. point z (cm)

[ Duplicates Rate vs sim PV z |

~ 0.01
>
20.009
5008
%.007
3
®.006
7]
9.005
(&)
2.004
=)
9.003
0.002
0.001

20 40 60
Sim. PV z (cm)

=0 0

30

track ref. point z (cm)

[ Pileup rate vs. sim PV z |

plleup rate vs Sim. PV z

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

.......

o

........

0.9!

0 =15 -10

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


